Name Hour Date
Scatter Plots and Lines of Best Fit Worksheet

1. MUSIC The scatter plot shows the number of CDs (in millions) that oso I’
were sold from 1999 to 2005. If the trend continued, about how 900 y
many CDs were sold in 2006? g~
E 750
700
650 C
<
‘99 ‘00 '01 ‘02 ‘03 ‘04 'OSX
2. FAMILY The table below shows the predicted annual cost for i |-
a middle income family to raise a child from birth until a6
adulthood. Draw a scatter plot and describe what relationship g ;j
exists within the data. Cost of Raising a Child Born in 2003 5 13
Child's 3 12
i 3 6 9 12 15 £
Annual | 0200 | 11,700 | 12,600 | 15,000 | 16,700 10
Cost($)| ’ ! ' ! 9
{
0 3 6 9 12
Age (years)
&4
3. Make a scatter plot of the data in the table. Draw a line of best fit. 3
What is the equation of the line of best fit? 5
X |-2|-2|-1]o| 1| 1|1 ]2]|2] 3 1
Y. 2 3 2 1 0 1 -1 -1 -2 -2 — T T 1 1
4 3 -2 10 1 2
¥
-2
3
4

4. EDUCATION The table at the right gives Study Hours | 3 5 5 1 0 2

the number of hours spent studying for a Ginde 84 | 77 1 92 | 70 | 60 | 90

science exam and the final exam grade.
a. Draw ascatter plot of the data and draw in the line of best fit.

b. What is the equation for the line of best fit?

c. Predict the grade for a student who studied for 6 hours.

d. Could this line go on forever? Why or why not?

Yy




BASEBALL The scatter plot shows the average price of a major-league baseball ticket from 1997

to 2006.
a. Use the points (2001, 17.60) and (2002, 18.75) to write
the slope-intercept form of equation for the line of fit
shown in the scatter plot.

b. Use your equation to tell the price of a ticket in 2009. Is
this extrapolation or interpolation?

DISEASE The table shows the number of cases of Foodborne

Botulism in the United States for the years 2001 to 2005.

a. Draw a scatter plot and determine, what relationship, if
any, exists in the data.

b. Draw a line of fit for the scatter plot, and write the slope-
intercept form of an equation for the line of fit.

. ZOOS The table shows the average and maximum longevity of

various animals in captivity.

a. Draw a scatter plot and determine, what relationship, if any,
exists in the data.

b. Draw a line of fit for the scatter plot, and write the slope-
intercept form of an equation for the line of fit.

c. Predict the maximum longevity for an animal with an average
longevity of 33 years. Is this an example of Extrapolation or
Interpolation?

Average Price ($)

Baseball Ticket Prices

4

P

L
=

0 97 "98 39 ‘00 "01 ‘02 ‘03 "04 '05 ‘06

Year

Source: Team Marketing Report, Chicago

Cases

U.S. Foodborne Botulism Cases

Year

2001

2002

2003

2004

2005

Cases

39

28

20

16

18

U.S. Foodborne
Botulism Cases

50
40
30
20
10
0 2001 2002 2003 2004 2005
Year
Longevity (years)
Avg. |12 |25|15| 8 | 35|40 41| 20
Max. | 47 | 50 | 40|20 | 70 | 77 | 61 | 54
Animal Longevity (Years)
80
70
60
g 50
E 40
g 30
20
10

5 10 15 20 25 30 35 40 45
Average




al

{UOTIeMIIS SIY} JO 3X2JU0D Y} Ul uedw 3dooIdjul-A 9y} SOOp Jeyp\ @
(ydeisd oy Jo 1doorjur-£ ayy SI 1eYA P

;

]
G
1
™

JUoneNIIS SIY) 0}

JXQJU0D Ul UBdW 9UI[ 9} JO 9dO[S 9} S0P JBYA\, O

| i i |
| : | L
.
_0 =
- _-_ 0 _,W._._
— {1 £ "JIJ 189q JO ouI[ 104 10J uonenba ue IpN "q
. . o] 2| S "BJEp 9} [9POW 03 }1J 1S9 JO QUI[ & MBI(] "B
ydei3 o3 uo paseq suonsonb
M | N ¥l SuIMO[[0} U} I9MSUY 00q Y} UIY)IM punoj sodKy
i N — Jo Ioquinu 9y} 03 J00qIXa} B Ul s1ojdeyd Jo Ioquinu

oty Surredwiod ejep Jo jodioneds e s1IYSI oY) 0, °|

J9OUSIIOM 11, 359 JO auI']



JUOTBMYIS ST} JO JXOJU0D ) UT Ul 3da0IojuI-A 9y} S90p 1BYA\ @

Jydeid o1 Jo 3doorour-£ auy St 3Byp\ P

¢UOTIBTIIS SIY} 03 IXJUOD UI UBIW QUI AU} JO 9dO[S oY} S0P JBYA\ O

00se

{w) uoneas|3
000Z 0051 000l

njuls

e

- al

-Gl

- 02

BpRA3N

14

(p) dwal jenuuy ueap

"JIJ 159q JO auI[ InoA 10] uonenba ue Ay "q
"BJep dY) [OpOW 0} 1IJ 1S9q JO QUI[ B MBI(] B
"ydeid o3 uo paseq suornsanb
SUIMO[[0] Y} JOMSUY "BPBAIN UI SNIS[Q)) S9I39p
ur arnjerodwo) [enUUL UBIW I} 0} SIOJAW UL UOT)BAI[D
o3 Surredwod eiep o j0[dioneds e sty 9y} 0], 7



JUONBNIIS SIY} JO 3XJU0D ) Ul Ueaul }dooIajul-£A oy S90p 1BYA\ 'O

Jubiom Jed

ajdwex3 joidisness

ol

Sl

0z

o1

0¢

uoeo Jad S|

¢ydeisd oy Jo 3doordjur-A oy} ST 3BYp\ P

JUOTBMIS SIU} 0} 1XJU0D
Ul ueow ouI[ oY) Jo 9dO[S oY) SAOP JBYA\ O

"JIJ 189q JO aul[ oA 10J uonenbs ue QLA °q
"BJep 9Y) [2pOW 03 31} 1S9 JO QUI[ B MBI(] B
ydei3 ayj uo paseq
suorsanb Jurmo[[o] oY) IoMSUY “SIAIIIII IBD A}
ey} uoqed 1od Sa[Iw 93 03 SUO) UI IBD € JO JyI1am
o) Surredwos gyep Jo j07d1o3eds € S1 YS9y O, '€



JUOnBNIIS SIY) JO 1XIU09 Y} Ul uedw 3doordjur-£ ay) Soop Jeyp, o
(ydeisd ayp yo 1doorajur-£ ay3 ST JBYA\ P

{UONBNIIS SIY} 03 JXJU0D
Ul UBOW duI] 9y} JO 9dO[S 9} SA0P JBYA\ O

o ! "JIJ 1899 JO auI[ In0A I10] uonenbe ue LA 'q

v 8 S "BJep 9Y) [POWI 0} 1 1S9 JO QUI[ B MBI(] "B
851 8.3 ydeid o3 uo paseq
& suorjsonb SUIMO[[0] 9} JOMSUY "SPUBSNOT) UI
L QP Ied 9]} JO anJeA 9Y} 0} SIBJA Ul I8 © JO 93 9}

Surredwod ejep jo jo1dioneos e st I oy 01, §



JUOTJBIYIS SIY} JO 3XJU0D 9y} Ul uedw 3dooIdjul-A ) S90p JByp 9
Jydeid o Jo 3doorour-£ ou3 S13eyp\ P

nn JUOIIEM)IS SIY} 0} JXOIU0D
d 4 B . ur ueaw aul] 9y} Jo 2do[s Y} Se0p JeYA\ O

- Of

- 08

sanuIpy

"J1IJ 3S9q JO QUI[ IJNOA 10 uonenbs ue LI “q
“BJEp 9} [9pOW 03 1] 1S9q JO QUI[ B MBI B
s ydeis oy
M L gl U0 paseq suonsanb Surmo[[o} 9y} JoMSUy 9oUuBISIp
UQALS 9Y} Y[eMm O} WY} SO} I SOINUIU Ul W}
oy pue syuapmys Jo dnoid e £q padjem 20UB)SIp

@ A

00e o3 Surredwod ejep Jo 10[d1o1eds & ST IYSI Ay} O], °G
J0|d 19pe3§ ) )




JUoneIs SIy} 03 3x9ju0d ur ueaw jdoorajur-£A oy saop 1eym ('p

¢UOTIeNIIS SIY} 03 3X3u00 Ul ueaw odoys 9y} saop 1eym (0

1 359 Jo Sur]

w ; InoA 10y aurj a3 Jo uonenbs ue UM (*q
_ “BJep 9y} J0J 11J 159q Jo ouI[ & meI(] (e
M | ! : , 0813 ££L SIN0 15
, s e S Moy
s |
| | 91zs el g
M 191§ k- nonaq
W 09z o - sea
| " T o
peld 1A o »:,:‘.n._“:u
oL e | ey
W_ P | M | ‘ anepy A_Hh_hwm_“ uonvunsagy

ANOWLIVE WO SRUVIITY GEDTHILSIMON

"o1eos arerrdoxdde oy pue SIxe Yoo [oqe[ 03 2INS 9 e
"suorjsanb Surmor[oy 9y} romsue pue eiep oy ydelin) "Mo[o9q UAIS SI9[qe} BIBP V9



